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Dispute between 5"271/7™ re: nwna for N9
a.  pny 77 only inferred 1 (3"n1) from extension of n'RY>'n
i. w2 for N1 is merely an enhancement, not derived from oxn
ii. Quote: from » indicating that he accepts both extensions — in name of his teacher Yxynw> "
b.  57aw7 infers both as per the earlier xn»a
5" v. 13N "1 re: source for WM NNXN
a. 71 source is mR1»n (as per earlier Xn»712)
i. Challenge: rule of m®1%n — all requirements are indispensable;
1. Therefore: understudy should require nwna
a. But: use of different word (»pnn) indicates that he isn’t sequestered
b. 577 source is 220 (v. 1): extra phrase (0’n’ nww) -> all sequestering is 6 days
i. Challenge: this sequestering is for 7 days
ii. Answer: follows 2”21 — precaution against INWR NRMIV (N1 Y1)
c. 71 support from nrrn all 7 days — just like n®19n; challenge to 9" (no nxrrn at 7°0)
i. counter: nR1N before 3”01 is D7, WRI1YN was water
ii. Defense: water 211
iii. 572w nrtn during nw»a is enhancement (not from source [*10])
d. an773: supporting Ny v
i.  nNra(v. 3): points to DRIN (NWN->2 non-"p11x scholars) 2>nNITR N8 NV
ii. Challenge: nkra needed for its own directions (animals to bring)
iii. Answer: nxra is unusual form (could have said nra or noxa) =2 uses
1. &r7713 concludes with prooftext from wR>n; 870 only 1t 5”0y (and 1% 3"n2) require N2 - H"np
e.  Ap»1x supporting 9™
i. 2717 (and wn 2 X2 1+p02 79): 6 days were after m1aTn NIYY
1. 27777 establishes model that all entering n15w ninn need nw™a beforehand
2. 273 in order to cleanse nwn from food in his body
3. wn 2 &2np 77 in order to create anticipatory reverence/fear for nwn (v. 4)
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Basis: 17"nwy given on 6t of month=>"7 day” is beginning of nw»a

Therefore: 6 days must be included in the 40 on »»0 91 to lead to %3yn nwyn on nnMa v
4. p”1 6 days were from n" on (before ny12Tn0 NYY)

Basis: 1"nwy given on 7' of month—> “7t day” is that day

5. Tangent: analysis of stand of nwn with all of Y%7w’

~n272: stated that nwn +"11 were listening

Challenge: v.5—only nwn heard

Answer: at v they all heard; at 1ovn, only nwn (was akin to ™ ny»p [v. 7])
727...87771 (v8): don’t speak to someone until first beckoning him

727..877’r. don’t transmit information until told to do so by one who told you
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